Article number: 481A65xxx

BalanceBo)@ X-Line Mobile stand

Mobile stand for BalanceBox®400
HEIGHT ADJUSTABLE MOUNTS

Installation manual

Part nr. 902904-00

Thomas Regout Inc. www.heightadjustablemog Regout Balance Systems B.V.




X-Line Mobile stand

Mobile stand for BalanceBox®400

Safety Instructions What's in the box:

)

1x

\——
Bag of screws

« |

Tools needed

2/t

@




d for BalanceBox®400

X-Line Mobile stand

Mobile stan

nd 6 M8 screws

the column with 6 M8 washers a

1:1 M8 washer

1:1 M8 screw

the wheels with the M10 screws

Mount

1:1 M8 screw

&)




X-Line Mobile stand

Mobile stand for BalanceBox®400

Place the X-Line mobile stand on its wheels and mount the BalanceBox®

For mounting the
BalanceBox®400
use manual 902852

@ Secure the BalanceBox® at the underside with 2 M6 washers and 2 M6 screws

1:1 M6 screw HE 77777777 hL

Thomas Regout Inc 1445 Londonderry Drive Woodstock 30188 GA USA  Regout Balance Systems B.V. Industrieweg 40 6219NR Maastricht The Netherlands




